BEHO SHISHFE BEREFFRETEER —KRF REE

<R A O F>

5 B i | 3 | O - s (gt m)
REZE | FE& =
1 BIEERE 743,989 743,989 0
2 FHERBEIRA 3,000] %50 152,000] 138,000]  14,000|:& 53058 & (3¢ 141,000/ & )
X2 EFAD-OREEMEZIcETE0 | 3,000 1 3,000
B EFEIRA _.931,000f  =38,0001 e
2,000 22 44,000 44,000 o[FFEINFRSME
BEX&ESNE 4,000( 20 80,000 92,000| -12,000|%E2/\> KRS ME
_______________________________________ 2.000[ 17 34000 40000 -6,000REEHEH/NUESME
2,000 22 44,000 44,000 o[FZINFSME
HAKXRESSNE 4,000( 19 76,000 92,000 -16,000(F&E2/\>FSME
2,000/ 18 36,000 —4.000RESHEH /N RS INE

REWBES 100,000/ 170,000] -70,000
4 ﬁﬂXl 9.000 9,000 XEEESHEECRICA AN B REMS
= & 1,321,989] 1,412,989] 91,000 i
B EENICRBESNGEA - BB MBEESR . RASRBDMEI/ LD E, REEDRAINAT 5>
<¥ H 0 EH>
H B B | 8 IS EE fe; e m)
S IEEE [ eam] ™ "
I 32,460| 100150 -67690) ___ __________________________
(1) AN&ZE
_______ wmex 15220] 1 5220 14000\ -87soliaEZmEEmM
| _(2) (EmoHRERE | 0] __31.180f ~—811s0f ___________________________
HOE: 15 - | 8,300| 30,000| -21,700|Ek4, BERBDEXRLGE
CONE3 |- S | 0]___15000] —-15000} _  _ ______  _____________
(5) #& 18,940| 10,000 8,940|IRAFH . REARE
2 =8 | 869,105| 591890 317255| .
(1HEXE
EEE/PA BIL- B E 94,490 100,000 -5,510
REXREEIGFERAM 194,820| 180,000| 14,820
BREHERE 133,560| 120,000| 13,560 "5k, ook, r—Tnte bovaf—tt
______ PAC, BolsfS | 355,500 0]._355,500
(2)BfEES
AR/ Ay Bt RBE | 0 ol O
()FAKRE
EEE/PA BIIL-REBE 5000 | 12 73,095 100,000| -26,905|FE84A . iRiE4%
REXEEEHERR 0 0 0
______ mAKREHEEE | 10,790| 25,000| -14210|E kR, BEK
(4))L—F—XTxX
______ W—F RO RHERE | 0]  20,000]___-20,000
EILEE 3 -
R—LR—UEREFHH 6,850 6,850 0| FERIEH F 5
NEBMBHRE2FIRADDBIEHL 3,000
& &t 904,565] 652,000] 252,565
= YN B =
=515%S 731,089 904 565 ai7404 | RFEEEEERFEE




